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Solution to an Inequality:
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Pick the symbol that would be used to represent the following situations:

1. You can save up to $12 on dog food this week.
( not enore than $12)

2. You must be at least 42 inches to ride the carnival ride.
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3. The minimum speed limit on the freeway is 55 miles per hour (mph).
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4. There is a limit of 800 pounds on the rowboat.
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5. The maximum number of people allowed in the restaurant is 240.
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' If you have to “flip-flop” the side of the inequality, you must
' “flip flop” the inequality symbol as well. :
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Solving an Inequality and Graphing the Solution

Solve the inequality and graph the solution:
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Homework: p. 140 #7-10 (all), 12-20 (evens)

Adapted:



